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Conversion de longueurs métrigues mixtes Nom:
Résoudr e chaque probléme. Réponses
1) 6 meterset 2 centimeters = centimeters
1.
, 2.
2) 2kilometerset 1 meter = meters
3.
3) 6 centimeters et 3 millimeters= millimeters 4.
5.
4) 8 meters et 4 centimeters = centimeters
6.
_ 7.
5) 3kilometers et 6 meters = meters
8.
6) 9 centimeters et 9 millimeters = millimeters 9.
10.
7) 1 meter et 5 centimeters = centimeters
11.
_ 12.
8) 10 kilometers et 9 meters = meters
9) 2 centimeterset 5 millimeters= millimeters
10) 7 meterset 2 centimeters = centimeters
11) 10 kilometers et 5 meters = meters
12) 7 centimeters et 8 millimeters = millimeters
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Conversion de longueurs métrigues mixtes Nom Clé
Résoudr e chaque probléme. Réponses
1) 6meterset 2 centimeters= 602  centimeters
- 1 602
2 2 001
2) 2kilometerset 1 meter = 2001 meters
3, 63
3) 6centimeterset 3millimeters= 63 millimeters 4 804
5, 3 006
4) 8meterset 4 centimeters= 804  centimeters
- 6 99
7 105
5) 3kilometerset 6 meters= 3006 meters
8. 10 009
6) 9centimeterset 9 millimeters= 99  millimeters 9 25
10, 702
7) 1meter et 5centimeters= 105  centimeters
- 17 10005
12 /8
8) 10kilometerset 9 meters= 10009 meters
9) 2centimeterset 5millimeters= 25  millimeters
10) 7 meterset 2 centimeters= 702  centimeters
11) 10kilometerset 5 meters= 10005 meters
12) 7 centimeterset 8 millimeters= 78  millimeters
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